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I., S\.. lOEC/'I'E7I

Scventh Semester B.E. Degree Examination, July/August 2022
Gomputer Gommunication Networks

-l'inrc: 3 hrs Max. Marks:100

Notc: Attstyer any F-lVE.ffull questiorts, selecting atleast TWO questions./rom each part.

PART - A
I a. Match thc lbllou,ing lirnctron to thc appropriate layers in thc OSI Moclcl :

i) Divicling the transmittccl bit strcanr into fiarnes.
ii) Rcliablc process to proccss lr"rcssage dclivcry.
iii.1 Deterrnining the ror:tc to be used thror-rqh the subnet.

ir') Ironlat anrl codc conversior.r services.
v) Accessinl-r thc \Vorld \\ride Web.

b. Dcscribe tlie lbur levels of addrcssinq usecl in ]'ClP/lP r'r,ith example.
c. What rs ADSL? Describc its lv'lodulation and Implerncntation Techniques.

a. Explain the Go - back - N prctocol rvith necessary ligr"rres.

b. Pcrfonr bit stLrffing and dcstufljnq on the given bit strearr, 0111110111110000
flag as 0ll I 1110.

(05 )ilarks)
(05 )'larks)
(10 l{arks)

(10 llarks)
Assumc thc

(05 Marks)

(0,1 \,larks)

(06l'larks)
(06 )larks)

(0tl l'larks)

iii) Iiridgc
( l0 l{arks)

c. Assume that, in a Stop And - Wait Al{Q systern, the lland rvidth of the linc 2Mbps ancl I

Lrir tal<es 20n-rs to niake a round trip. What is the Llandu,idth delay product? II'1hc systcnr

clata fi'anres are 1000 bits in length. u,hirt is the Lrtilization percentage of the linl<? (05 \{arks)

a.

b

c,

is 25.6prs. What is the rnrrrintunt size of the ltame'/

DiscLrss t1-re Clontrollccl Access methods.
(iive the fcxnat for tl,e llrEE 802.3 fiarne fbr Ethernet.
[:xplain the tollor,vins \\,ith respect to Irasl Ethernet :

i) hnple mentatiorr ii) 100 BASti Fx

PART - B

a. Explain thc tbllou,ing connccting device : i) Activc I.lr"rb ii) Repeater
ir,) Router r,) Gatervay.

Explain in detail IPV1 datagrarn lourat.
List and explain threc trrnsitior'l str'fltL'gics to Move 1'rorn IPVa tcl IPV1,

Cionrpare and contrast thc tields in the Irain lreaclers of II)V4 and IPVr,.

What is the cliffcrcncc be lu'cctr a [)ircct and Inclircct delivcry')
List ar, d expIain three Fot'r'r':ircling'fechniqtr.-s.
Explain Dynatnic Routing table.

What arc thrcc types of'fiarncs in IIDLC? Iixplain each flclcl of thcrn brie fly. (l() \l:rrks)
Discuss thc concept of : i) I pcrsistcncc CSMA ii) Non persistence CSMA. (06 Marks)

A netr.vork Lrsing CSMA/CD has a bandrvidth of l0Mbps. If thc marimum propagation t1'pc

,l a.

h.

C.

f

b. What arc Transparent Bridgc? With cliagram, cxplain three critcria oltransparent bridgc
(10 \Iarks)

(10 N{arks)
(06 X{arks)
(0-l \Iarks)

(04 I'larks)
(0tt \Iarks)
(Ott YIarks)

Describc TCIP Connection irnil crplain a TCP connectiot-t establishn-rent using thrcc u'zty

I Iand Slraking. (lo Vlarks)

Writc short notcs on : i) UDP ii) DNS. (10 \'Iarks)

a.

b

a.

b

b

a.


